MATH 221

Quiz 3 |

Show your work. Pick any three problems. I will grade three.

1 2 3 -1 5 =2
Problem 1 Let A = [ 1 0 1 } and suppose @ AB = [ 0o 2 -2 } . Calculate det(B).
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det (A) = L () e2(-)+3(-1) = -2
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Problem 2 Find real numbers k for which the following system of equations has a unique solution:

ke+2y=3 S0z 4+ ky=2
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Problem 3 (a.) Calculate the volume of the solid spanned by the vectors v; = e;+ea+es, vo = 2ea+e3

and vy = 3es where e, €2, e3 € R® are the usual standard basis.
(b.) is {v1,vz,va} a right handed triple?
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Problem 4 Solve Av = b for ¢t by Cramer’s Rule. We define t by v = [z,7, 2|7 and 4,b by
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